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Answer Key
1. D 

2. D 

3. A
4. C 

5. C 

6. A
7. C 

8. D 

9. B 

10. C 

11. B 

12. B 

13. A
14. A
15. B 

16. A
17. D 

18. D 

19. C 

20. B 
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7. Choice C is correct. To find 25% of $130.00, multiply $130.00 by 0.25, which is $32.50.
Choice A is incorrect because $5.20 is 4% of $130, which results from dividing 
by 25. Choice B is incorrect because $25.00 is approximately 19% of $130, which
may be the result of misunderstanding 25% to be $25. Choice D is incorrect because
$97.50 is 75% of $130, which is not the amount that will go into the savings account.

8. Choice D is correct. 1,582  +  761  =  2,343
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14. Choice A is correct. 
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19. Choice C is correct. The fraction 5

8

 
 is greater than . When using a common
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